
Ethos Height Adjustable T-Arm 

If retrofitting to Height Adjustable T-Arms and wheel locks are present, extended wheel lock clamp assemblies are required. 
 

Item Number Part Number Description Quantity Retail
1, 2, 4-14, 23-
24 004160 Height Adjustable T-Arm Lower Assembly Short 1 $132.94

Does not include t-arm upper, arm pad or arm pad screws

1, 2, 3a, 4-14,
22-24 003463 Height Adjustable T-Arm Short Desk 1 $207.98

Does not include arm pad or arm pad screws

1, 2, 3b, 4-14,
22-24 003464 Height Adjustable T-Arm Short Full 1 $207.98

Does not include arm pad or arm pad screws

1, 2, 3a, 4-14,
18b, 19a, 22-
24

505646 Height Adj T-Arm Assm w/ Short Side Shield and
Standard Pad Desk 1 $234.78

1, 2, 3a, 4-14,
18b, 19a, 22-
24

505647 Height Adj T-Arm Assm w/ Short Side Shield and
Standard Pad Desk, PAIR 1 $469.57



Item Number Part Number Description Quantity Retail
1, 2, 3b, 4-14,
18a, 19a, 22-
24

505644 Height Adj T-Arm Assm w/ Short Side Shield and
Standard Pad Full 1 $234.78

1, 2, 3b, 4-14,
18a, 19a, 22-
24

505645 Height Adj T-Arm Assm w/ Short Side Shield and
Standard Pad Full, PAIR 1 $469.57

1, 2, 3a, 4-14,
18d, 19b, 22-
24

505650 Height Adj T-Arm Assm w/ Short Side Shield and
Waterfall Pad Desk 1 $243.94

1, 2, 3a, 4-14,
18d, 19b, 22-
24

505651 Height Adj T-Arm Assm w/ Short Side Shield and
Waterfall Pad Desk, PAIR 1 $487.89

1, 2, 3b, 4-14,
18c, 19b, 22-
24

505648 Height Adj T-Arm Assm w/ Short Side Shield and
Waterfall Pad Full 1 $243.94

1, 2, 3b, 4-14,
18c, 19b, 22-
24

505649 Height Adj T-Arm Assm w/ Short Side Shield and
Waterfall Pad Full, PAIR 1 $487.89

1, 2, 3a, 4-17,
18b, 19a, 20-
26

108235
Height Adj T-Arm Assm w/ Short Side Shield,
Standard Pad Desk with Receiver and Seat Rail
Saddles

1 $302.47

1, 2, 3a, 4-17,
18b, 19a, 20-
26

108236
Height Adj T-Arm Assm w/ Short Side Shield,
Standard Pad Desk with Receiver and Seat Rail
Saddles (PAIR)

1 $561.08

1, 2, 3b, 4-17,
18a, 19a, 20-
26

108237
Height Adj T-Arm Assm w/ Short Side Shield,
Standard Pad Full with Receiver and Seat Rail
Saddles

1 $302.47

1, 2, 3b, 4-17,
18a, 19a, 20-
26

108238
Height Adj T-Arm Assm w/ Short Side Shield,
Standard Pad Full with Receiver and Seat Rail
Saddles (PAIR)

1 $561.08

1, 2, 3a, 4-17,
18d, 19b, 20-
26

108239
Height Adj T-Arm Assm w/ Short Side Shield,
Waterfall Pad Desk with Receiver and Seat Rail
Saddles

1 $311.63

1, 2, 3a, 4-17,
18d, 19b, 20-
26

108240
Height Adj T-Arm Assm w/ Short Side Shield,
Waterfall Pad Desk with Receiver and Seat Rail
Saddles (PAIR)

1 $320.79

1, 2, 3b, 4-17,
18c, 19b, 20-
26

108241
Height Adj T-Arm Assm w/ Short Side Shield,
Waterfall Pad Full with Receiver and Seat Rail
Saddles

1 $311.63

1, 2, 3b, 4-17,
18c, 19b, 20-
26

108242
Height Adj T-Arm Assm w/ Short Side Shield,
Waterfall Pad Full with Receiver and Seat Rail
Saddles (PAIR)

1 $320.79

5-7, 10, 23, 24 505490 Height Adj T-Arm Upper Latch Assembly 1 $40.56

8, 9, 11, 23 505507 Height Adj T-Arm Release Lever Assembly 1 $8.49

15-17, 20, 21 108234 Height Adjustable T-Arm Receiver Assembly,
Ethos 1 $43.88

15-17, 20, 21 109750 Height Adjustable T-Arm Receiver Assembly,
PAIR, Ethos 1 $87.76

12-14 506082 Height Adj T-Arm Short Shield Assembly 1 $16.44

1 000089 Height Adj T Armrest Post 1 $25.10

2 000090 Height Adj T Armrest Shim 2 $2.55



Item Number Part Number Description Quantity Retail

3a, 22 112906 Height Adj T Armrest Upper Desk w/ Tube End
Plug 1 $76.67

3b, 22 112907 Height Adj T Armrest Upper Full w/ Tube End
Plug 1 $76.67

4 000095 Height Adj T Armrest Transfer Tube 1 $28.07

8 000135 Height Adj T Armrest Release Lever Spring 1 $1.09

9 000152 Height Adj T Armrest Release Spring Button 1 $1.09

12 003457 M5 x 14mm Barrel Nut 2 $1.05

14 003641 .25" x .75" Dowel Pin 2 $1.05

15 005260 T-Arm Receiver, Ethos 1 $7.19

16 005261 T-Arm Receiver Liner, Ethos 1 $10.46

17 005262 T-Arm Clamp, Ethos 1 $18.87

18a 100500 Arm Pad Full 1 $23.64

18b 100501 Arm Pad Desk 1 $23.64

18c 102452 Waterfall Arm Pad Full 1 $32.80

18d 102521 Waterfall Arm Pad Desk 1 $32.80

19a 100696 M5 x 30mm PPH Capscrew 2 $1.58

Used with Standard Arm Pads

19b 100654 M5 x 40 DIN7985 PH Pan HD M/S ZC 2 $1.58

Used with Waterfall Arm Pads

20 100746 M6 Flat Washer Blk Zn 2 $1.58

21 100780 M6 x 25 SHCS ZC 2 $2.10

22 100803 Tube End Plug 7/8" 2 $1.58

23 003458 M5 X 12mm FHCS BLK ZN W/ Patch 4 $1.05

25 005259 Seat Rail Saddle, Offset 1.125" 6 $2.81

Use quantity 4 per side for 14" - 15" seat depths, quantity 5
per side for 16" - 18" seat depths and quantity 6 per side for
19" - 20" seat depths.  If Seat Option is Omit Seat Sling,
Seat Rail Saddles are not used.

26 101117 M5 x 22 BTN SHCS BLK ZC 6 $1.58

Use quantity 4 per side for 14" - 15" seat depths, quantity 5
per side for 16" - 18" seat depths and quantity 6 per side for
19" - 20" seat depths


